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A���� pi,t �
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 "��� i,�
 "���
�
 ������ � %
%��� ���� t� B
�� ��� ����
,
�
% �
������� 1���%
 �
��%��� ��������$ k,��%����$ ����
� rt = (r1,t, . . . , rk,t)) ��
ri,t = lnpi,t − lnpi,t−1� 2����� ��������8%
) 3
 ����
� rt %�8 k,��%����$ ���������$
�
��
���) �
1�
 ������� ����
�� rt ����8��� ���
! �
�%��
!C

|Σ|−1/2f((x − µ)′Σ−1(x − µ)),

�� ����%���� ��
"��� µ � Σ 8 ����
����
 ����
�
% �������# � �
�����"�$�
! %����,
"�!) � |Σ| / ��������� �
�����"�$�
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�� � ��
��- ���������#
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R = (X − µ)′Σ−1(X − µ)
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wEU =
Σ−11k

1′kΣ−11k
+ α−1Sµ, (1)

��

S = Σ−1 − Σ−11k1′kΣ−1

1′kΣ−11k
. (2)
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ŵEU =
Σ̂−11k

1′kΣ̂−11k

+ α−1Ŝµ̂,

��

Ŝ = Σ̂−1 − Σ̂−11k1′kΣ̂−1

1′kΣ̂−11k

.

Mij =
(n − 1)2(n − k + 1)

(n − k)(n − k − 1)2(n − k − 3)
Seie

′
jS+
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+
(n − 1)2

(n − k)(n − k − 1)(n − k − 3)
e′iSej , (3)

M̃ij =
(n − 1)2(3(n − k) − 1)

(n − k)(n − k − 1)2(n − k − 3)
Seie

′
jS+

+
(n − 1)2

(n − k)(n − k − 1)(n − k − 3)
e′iSej , (4)

M∗
ij = Mij − M̃ij =

(n − 1)2

(n − k − 1)2
Seie

′
jS, (5)

����
%� ei (i = 1, 2, ..., k) / k,��%����$ ����
�) i,$ ���%���  �
�
 �
����!8 
����"�)
� ��� ��;� / ���!�

7�����8 � �
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E(ŵEU ) =
Σ−11k

1′kΣ−11k
+

n − 1
n − k − 1

(nk − 2)E(R−2)α−1Sµ (7)

�

Cov(ŵi
EU , ŵj

EU ) =
1

n − k − 1
e′iSej

1′kΣ−11k
− α−2

(
(nk − 2)E(R−2)

)2
µ′M∗

ijµ+

+α−2(nk − 2)(nk − 4)E(R−4)µ′M̃ijµ+

+α−2(nk − 2)E(R−2)
(

tr(MijΣ)
n

+
(n − 1)2

n(n − k − 1)2
e′iSej

)
. (8)
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 #�,
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- ������
�
- �������� Z %�8 ���� �

ϕ(t′t) = e−r(t′t)
ζ
2 , 0 < ζ � 2, r > 0,

�� t / k,��%����$ ����
�) �
 ���4�%
) 3
 ������
�� �������� Z %�8 1����
��%����$
��%�������$ ���$��$ �
��
���� I� 8 1����
��%���� ����������� ���$�
�
 �
��
�����

9����4�%
) 3
 #�������������� ����"� "�
�
 ���� ���������# ��%�������#
�
��
����� ����4��� �
 Φl+1 �� �
4�
�
 l + 1 '	(� �
�����%
 Z =

(
Z(1), Z(2)

) ∼
Sl+1 (α)) �� Z(1) / q,��%����$ ����
�� B
�� � ����������� '	( �������8) 3
 Z(1) ∼
Sq(ϕ)) �� ����� Sq(ϕ) �
������
 ��%:! q,��%����# ��%�������# �
��
����� �� #������,
�������
! ����"�8! ϕ� 9���
�
��!�� ��
��%� ����6 � '	() �
#
��%
 ����
���) 3

������� q,��%���
�
 ������
�
�
 ����
�� &1 � q � l+)  ��$ %�8 1����
��%����$
��%�������$ �
��
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g(X ′X) =
Γ
(

l + 1
2

)

Γ
(

l + 1 − q

2

)
π

1
2

∞∫
(

q∑
i=1

x2
i

) 1
2

v−(l−1)

(
v2 −

q∑
i=1

x2
i

) 1
2 (l + 1 − q)

dFl+1(v),
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�
-
�������� R)  �� 8 ������!�
! �%���
! �� l + 1,��%���
�
 ��������

9 ��
��%� ��� '
( �������8) 3
 ������� ������!�
- �%���
- R � q ������� %�8
���� �

f(r) =
2π

q
2

Γ
(

q
2

)rq−1g(r2) =

=
2

B

(
q

2
,
l + 1 − q

2

) ∞∫
r

v−(l−1)
(
v2 − r2

) 1
2 (l + 1 − q)

dFl+1(v).
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@?35A�� B�=C36:�� g(x) 2���4562696 2�5�6�� Z> �5� 7 3������236D �

g(0) =
4r

− l+3
ζ +

5
2

πl+1ζ
Γ
(

l + 1
2ζ

)
> 0.

���������� E������� ����"� 3����
��� 8 
1������% ������
���� % J��:8 #������,
�������
- ����"�-) �
 �������� ������� ������
�
- �������� Z ����
������ ����
,
%����$ �1�4�
��� ���������

g(X ′X) =
1

πl+1

∞∫
0

...

∞∫
0

eitxe−r(t′t)
ζ
2 dt.

F�8%


|eitxe−r(t′t)
ζ
2 | = e−r(t′t)

ζ
2 .

9 ��%� ��5 &'
(+ �������8) 3


∞∫
0

...

∞∫
0

eitxe−r(t′t)
ζ
2 dt =

∞∫
0

p
l+1
2 −1e−rp

ζ
2 dp =

4r
− l+3

ζ +
5
2

ζ

∞∫
0

y
l+1
2ζ −1

e−y2
dy,

�� y = rt
ζ
2 � E������$ ��������

∫∞
0 y

l+1
2ζ −1

e−y2
dy �1���8��� ��� ζ > 0 � $
�
 ������� 

�
����!8 Γ( l+1
2ζ )� 2������������ ����"�- 3����
��� �������8 � ���������
��� ����"�-

eitxe−r(t′t)
ζ
2 �

E�?2�F�33� #� E������� �� ���$��# �
��
����� E(|Z|β) < ∞ �� �%
��) 3

0 � β < ζ � E(|Z|β) = ∞ � ������� β > ζ) �
) ���#
��!�� ���������� g(0) > 0) �
��%� � 
���%�8%
 E(|Z|τ ) < ∞)  �3
 −1 < τ � α −1 < τ < ζ�

2� �������� ��
���# 
1������� ����
 �
����� ���� ��%��
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E(Zβ) =
2π

l
2 B(β + 1, 1

2 l + 1)
Γ
(

l
2

)
∞∫
0

v2β+3vlgl+1(v2)dv.

E�?2�F�33� �� <� �����4��� � �������8) 3
 ��������
∫∞
0

vηgl+1(v2)dv �1���8��� 
�
�� � ������ �
��) �
�� −1 < η ≤ 2ζ + 3 + l�

0�4���
 ��������� �%
�� �� β) ��  ��# ����8 E(R2β)) �� β ∈ IR� 0���
���� ��
"� ������ ��8 ��
��%��

������� 
� ����/ R " 9�3��?D;� <��33� q
2����3696 2���4562696 2�5�6��> �5�/
��7 :������;3�/ :��/5�/ �6<�64�=� �64�

E(R2β) =
2π

l + 1
2

Γ
(

l + 1
2

) B

(
β +

q

2
,
l + 1 − q

2
+ 1
)

B

(
q

2
,
l + 1 − q

2

) ∞∫
0

v2β+2+lgl+1(v2)dv.

���������� 0��#
��!��) 3


fl+1(v) =
2π

l+1
2

Γ
(

l + 1
2

)vlgl+1(v2),

3�������� ������
�
- �%���
- Q = R2 %
4�� ������ ���
! �
�%��
! '
(C

fQ(r) =
π

q
2

Γ
(q

2

)v
q
2−1gl+1(r) =

=
r

q
2−1

B

(
q

2
,
l + 1 − q

2

) ∞∫
√

r

v−1(v2 − r)
l+1−q

2 gl+1(v2)dv.

B
%�

E(R2β) =
2π

l+1
2

Γ
(

l + 1
2

) 1

B

(
q

2
,
l + 1 − q

2

) ∞∫
0

rβ+
q
2−1

∞∫
√

r

v−1(v2 − r)
l+1−q

2 gl+1(v2)dvdr.
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E(R2β) =

=
2π

l+1
2

Γ
(

l + 1
2

) 1

B

(
q

2
,
l + 1 − q

2

) ∞∫
0

v−1gl+1(v2)

v2∫
0

rβ+
q
2−1(v2 − r)

l+1−q
2 dr dv =

=
2π

l+1
2

Γ
(

l + 1
2

) 1

B

(
q

2
,
l + 1 − q

2

) ∞∫
0

v2β+2+lgl+1(v2)

1∫
0

yβ+
q
2−1(1 − y)

l+1−q
2 dy dv =

=
2π

l+1
2

Γ
(

l + 1
2

) B

(
β +

q

2
,
l + 1 − q

2
+ 1
)

B

(
q

2
,
l + 1 − q

2

) ∞∫
0

v2β+2+lgl+1(v2) dv.

E�?2�F�33� $� <� �����4��� � �������8) 3
 %
%��� E(R2β) ����8 �
�� � ������ �
��)

�
�� −3 + l

2
< β ≤ ζ +

1
2
�

E�4�) ������8) �����"�- � %
%���� 
"��
� 
���%�����# �
��������# ��� �
�,
�����
 ���
�
�
 �
� ��� � ������� %����%���"�- 
�������
- ��������
- ����"�- �
,
����
��� ����!�� �� 1����
��%����# ��%�������# ���$��# �
��
����� � ������
%
���$�
��� ζ) 0 < ζ < 2) �� �%
��) 3
 
"���� �
�����"�$�
- %����"� 1������ 1��
�
�%����� �� �����$ %
%��� ������!�
- �%���
-)  � � � ������� �
�%����
�
 �
�,
�
����� B��� ���������� ��
��������) 
������� � �
�%���# ���
����
��!�� 
"����
�����"�- � ������� ���$��# �
��
����� � ������
% ���$�
��� 0 < ζ < 2�

� ������� ��%������
�
 �
��
���� �
�"� E(R−2m) ����8 �� m ����#) 3

2(N − m) + l > 2) �� l = nk) � �������8��� �
�%��
!

E(R−2m) =

∞∫
0

v−m


 sr

2N+l−2
2s

π
l
2 Γ
(

2N + l − 2
2s

)

 vN+

l
2−2e−rvs

dv =

= Cl,N

∞∫
0

vN−m+
l
2−2e−rvs

dv =
Cl,N

Cl,N−m
=

Γ
(

2(N − m) + l − 2
2s

)

Γ
(

2N + l − 2
2s

) r
m
s .

E1�����%
 ������8) �����"�! � �
�����"�! ���%����� ����
�� ŵEU �� �%
��) 3

�
������� %�!�� ��%�������$ �
��
��� �
�"� � �������% µ) �
�����"�$�
! %����,
"�! Σ� E������� � ��;
%� ������� l = nk) �
 � �
�%�� &5+ � &.+ 
���%�8%
 ����
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E(ŵEU ) =
Σ−11k

1′kΣ−11k
+

n − 1
n − k − 1

(nk − 2)
Γ
(

2(N − 1) + nk − 2
2s

)

Γ
(

2N + nk − 2
2s

) r
1
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EU � ŵj
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
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